(Team) Parsing  Worksheet/Homework

CISC 471/ 672 Compiler Construction

Spring 2015
Due Date:  Question 1 by end of class, Tuesday, November 10, 2015, and rest due Tuesday,  November 17, 2015, start of class.
1. Consider the following grammar:

S -> F = T | T

T -> T + j | F

F -> F * | a | j

(a) Construct the LR(0) DFA for the grammar.

(b) Construct the SLR(1) parsing table for the grammar.

(c) Is the grammar SLR(1)?  Justify.

2. Show that the following grammar

S -> Xe | cXd | Yd | cYe

X -> w

Y -> w


is LR(1) but not LALR(1).

